A & ol & AF &2 F A A
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A AMSHT D
200 Mol
220 YAEAME Y
8 o 224 JIEHS Y (el @
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= H 18,905,742 11,889,830 7,015,912
OIS A Xl Dt 18,905,742 11,889,830 7,015,912
200 A2l %g 363,000 405,000 ~42,000
220 AAEAN Q&2 363,000 405,000 £42,000
224 JIEt4 2 363,000 405,000 A 42,000
224-06 19+ ¢ 363,000 405,000 A42,000
QDAY HADZO HE HHMESS va2 330,000
ORO0I2IMAF AFEH JAT20| 2 BHESS B2 33,000
500 2 =2 18,542,742 11,484,830 7,057,912
510 2NEX2S 702,059 26.666 675,393
511 212x3S 702,059 26,666 675,393
511-01 2 D2 X3 134,059 26,666 107,393
oAdsns X 34,000
OXSESEDY Y214 X 80,059
O2dh SAUAE Iz 20,000
511-02 2 LHSH|HBx2 568,000 0 568,000
OS2 A2 =4 N(HEA 2N 2124Y) 70,000
OFRTANZ 2I2eY 400,000
OSSR X THY =4 98.000
520 Al - SHIEZ2S 17,840,683 11,458, 164 6,382,519
521 Al - SHIEZE2S 17,840,683 11,458, 164 6.382,519
521-01 Al - SHIEZE3S 17,840,683 11,458, 164 6,382,519
OSAEE P20 2B TAH P 10,000
OMOIXIE DE0A XA (HSH AY) 6,500,000
OslMENs 1 10,000
Ozt 24 1 11,296,687
OXSEEY Y24 1 23,996
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g 568,000
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Al 26,628,918
AHS NETA JIBIRE 18,647,023 18,557,702 89,321
= 20,000
g 568,000
& 6,510,000
Al 11,549,023
22U Dt 14,327,105 15,954,279 N1,627,174
o= 6,500,000
Al 7,827,105
wWI2 X 23t 17,125 16,425 700
201 et | 12,925 12,925 0
01 AR 22l ] 12,925 12,925 0
ORSAHRZZ 4RARE 22 BFH4Y
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02 332494l 7,564 4,034 3,530
ONd=EMN2U3 ZIHy| 480
OF=ZHA=CAIE 23 AFH| 2,000
O2& eI A2l 100,000& = 1294 & 1,200
OEXE sl 3,884
- S &4l 15,000km/9km * 1,598& 2,664
-28= 500
- S Xl2t2l bl 12,000,000& * 6% 720
03 HAFS S HI 69,680 69,680 0
Ot T Al 8t 2 AFH(LHAl SolHel =) 50,000
O=MS0tel &35 A& MY 10,480
-SMNS0t2 F3aAs 1,000,000& = 23| 2,000
-SAN HE IR 500,000& * 23] 1,000
-SAMN HE &34l 150,000& * 23 * 15J4 4,500
—-=SAN HE 39 EHALH
70,0003 * 23 = 7Y 980
-SAMNsS0lel g5 XN 2,000
OF0IIteE CE2s T2 ) 29
1,500,000& = 43| 6,000
O MZO0I3HHID 29 A=Y 3,200




STA Yoo o HE)
5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol &F o4 %@ﬁ 2t
202 o4 | 4,200 2,800 1,400
01 2L I 4,200 2,800 1,400
O MH&X &4 Yl 700,000 = 6H 4,200
301 et A= 4,700 0 4,700
12 JIEtE A= 4,700 0 4,700
OZdHAl 2ol =2 E52 228 AAS 4,700
307 212t0| ™ 4,600 4,600 0
04 SIZ2ISHAFAISHE E X 4,600 4,600 0
ons=32e=z 21oH2e] = 2,600
O2adlAlCl ol HYE3 29 2,000
EAEERS(MAHALY 7,000 7,100 A 100
201 et 7,000 7,100 A 100
03 A2 HH| 7,000 7,000 0
O2AEE /35 LAY
500,000€ * 1€ = 23| 1,000
OO0 II= AEE Z2)dH 29 6,000
AEIER2S(EH 90,000 90,000 0
o 10,000
Al 80,000
201 et 90,000 90,000 0
o= 10,000
Al 80,000
01 AP 2t 2| H| 90,000 90,000 0
OEAEE R0 HEE2 A 7Y
10,0008 = 2& = 4 500" 90,000
== 10,000
Al 80,000
SN2 29 1,126,600 1,048,400 78,200
201 et | 6,000 4,200 1,800
01 AR 22l ] 5,000 4,200 800
OX2TA EASRE S
100,000 * 10¥ = 53 5,000
03 A2 | 1,000 0 1,000
omezA G ALY
500,000 = 23| 1,000
307 QI2t0| & 1,070,600 994,200 76,400
02 QI2tAAMAIE E =X 29,000 3,000 26,000
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